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Question Number : 1 Question Id : 54947021952 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary stage of promoting the learning in a child is

Options :
Imitation
1. ¢
Instinct
Motivation
3 %
Conditioning
4, %

Question Number : 2 Question Id : 54947021953 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

A good teacher is one who

Options :
gives useful information
1. ®
gives notes to students
2. %
explains concepts and principles
3. %
inspires students to learn
4. ¢

Question Number : 3 Question Id : 54947021954 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The highest contribution of the sensory organ in effective learning belongs to

Options :

sense of touch

sense of hearing



sense of taste

sense of seeing
4. &

Question Number : 4 Question Id : 54947021955 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The classroom communication should essentially be

Options :
Abstract
1 ®
Empathetic
2.4
Non-descriptive
3. %
Contrived
4. %

Question Number : 5 Question Id : 54947021956 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is the highest level of cognitive ability?

Options :

Knowing
1. ®

Understanding
2. %

Analyzing
3. %

Evaluating

4. v

Question Number : 6 Question Id : 54947021957 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is NOT a component of effective teaching.

Options :

Questioning to check for the understanding of students

Providing students with feedback
2. %



Being flexible about how long it takes to learn

Reactive mode of students” behavior
4.«

Question Number : 7 Question Id : 54947021958 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

SWAYAM refers to :

Options :
Study World of Action-Learning for Young Aspiring Minds
1. ®
Study Webs of Active-Learning for Young Aspiring Minds
2.¢
. Student World of Action-Learning for Young Ailing Minds
3.
Study Webs of Active-Learning for Youth Awareness Models
4.%

Question Number : 8 Question Id : 54947021959 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is the main purpose of using ICT for class room teaching is
fo

Options :

Keep students engaged in the class

1%
Divert student’s attention in the class
2. %
Optimize learning outcomes of teaching
3.¢
Make the classroom instructions are interesting
4. %

Question Number : 9 Question Id : 54947021960 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

GUI stands for

Options :

Graphical User Interference

Graphical User Interface
2.



Graphical User Identifier

Gaming User Identifier

Question Number : 10 Question Id : 54947021961 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following be the true evaluation of the students if possible?

Options :

Formative
1. %

Evaluation at the end of the course
2. %

Evaluation twice in a year
3 %

Continuous evaluation

4.

Question Number : 11 Question Id : 54947021962 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Teaching in Higher education implies

Options :
Presenting the information given in the text book
1 ®
Asking questions in the class and conducting examinations
2. %
Helping students to prepare and pass the examinations
3. %

Helping students to learn
4. ¢

Question Number : 12 Question Id : 54947021963 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary task of a teacher is
Options :

To teach the prescribed curriculum

To stimulate and guide students learning
2. ¥



To provide diagnostic and remedial is aid wherever desired

To promote habits of conformity to adult demands and expectations

Question Number : 13 Question Id : 54947021964 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One of the aims of scientific method in research 1s to

Options :

Improve data interpretation
1 ®

Eliminate spurious relations
2.¢

Introduce new variable
3. %

Conform triangulation
4. %

Question Number : 14 Question Id : 54947021965 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is NOT a characteristic of research?

Options :

Research is symmetric
1 ®

Research is not a process

2.¢

Research is not passive
3. %

Research is problem oriented
4. %
Is Section Default? : null

Question Id : 54947021966 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (15 to 21)



Read the following passage carefully and answer the questions from 15 to 21:

Intelligence is associated with academic achievement by most people. The various
theories of intelligence created by psychologists hold that there are two kinds of academic
intelligence-verbal and mathematical or logical. Intelligence is an inherited trait that impacts
individual behavior and performance according to most experts. But, many research studies have
revealed that the environment greatly impacts the development of intelligence. Since. one
property of intelligence i1s analytical and reasoning skills. people with high intelligence quotient
will understand the problem at hand better than people with a low IQ. Many organizations
consider intelligence as an important criterion while recruiting. For instance in many
management schools, a lot of weightage is given to high IQ while admitting students or
recruiting faculty members. The qualities of intelligent people are high energy drive.
achievement and competitiveness. Very intelligent employees learn job — related skills and other
organizational practices quickly and organizations have to spend less time training them. People
with high imtelligence have good decision making ability due to their good analytical and
reasoning skills. With a high achievement drive, they are mostly very productive. As the saying
goes, ‘A wise enemy is better than a foolish’ friend:

Even with such a high IQ, very intelligent people may not always be very happy. The
high IQ makes them dysfunctional leading to anxiety and depression. Generally speaking, people
with high intelligence quotient are often dissatisfied people.

Sub questions

Question Number : 15 Question Id : 54947021967 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the two kinds of academic intelligence defined by psychologists?

Options :

Mathematical and logical
1 ®

Logical and psychological
2. %

Verbal and logical
3.¢

Mathematical and social
4. %

Question Number : 16 Question Id : 54947021968 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the possible ill effects associated with high IQ people?
Options :

Mania and hallucination

Depression and hallucination



Bipolar disease

Anxiety and depression

Question Number : 17 Question Id : 54947021969 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When a student stands first in the class, the general credit is given to:

Options :

Contacts
1. %

Intelligence
2.9

Hard work
3 %

Attractive features

4, %

Question Number : 18 Question Id : 54947021970 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Dissatisfaction is often witnessed in people with

Options :

Creative skills
1, *

High expectations
2. %

Good decision—making ability
3.¢¥

High education qualifications
4, %

Question Number : 19 Question Id : 54947021971 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

High energy drive, achievements and competitiveness are valued during

Options :

Admission
1. %

Recruitment
2. %

Promotion



Admission and recruitment

Question Number : 20 Question Id : 54947021972 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Those who understand a problem in a short span of time will be people with

Options :
High IQ
1. ¢
- Low IQ
Average IQ
3%
Good IQ
4. %

Question Number : 21 Question Id : 54947021973 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Another word for “Weightage’ is

Options :



Credit

1. ¥

Mass
2. %

Weight
3. #

Freedom

4. %
Is Section Default? : null

Question Number : 22 Question Id : 54947021974 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Synopsis of a research is

Options :

Summary of research

Blueprint of a research
2.¥

Extract of research



A plan of research
4.%

Question Number : 23 Question Id : 54947021975 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following objectives is not associated with teaching aids?

Options :
To present difficult concepts in simpler manner for students
1. ®
To make the students comparatively more active and dynamic
2. %
To make advertisements of attractive and miraculous events to students
3.
To determine the audio-visual aids by keeping mind individual differences in
the class
4. %

Question Number : 24 Question Id : 54947021976 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The first step of research is

Options :

selecting a problem
1. ®

searching a problem
2. %

finding a problem
3.

identifying a problem

4. %

Question Number : 25 Question Id : 54947021977 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of these is not a method of data collection?
Options :

Interviews

Observations



Questionaries

Experiments
4.9

Question Number : 26 Question Id : 54947021978 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A researcher conducted three experiments with 100 subjects each following uniform
design instead of one experiment with 300 subjects. This is known as

Options :

Validation
1.¢

Manipulation
2. %

Observation
3. %

Replication
4, %

Question Number : 27 Question Id : 54947021979 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The conceptual framework in which a research is conducted is called a

Options :

Synopsis of research
1. %

Research design
2.¢

Research hypothesis
3. %

Research Paradigm
4.%

Question Number : 28 Question Id : 54947021980 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is an identification of the quality of a research journal?
Options :

Impact Factor
1.v

h — index



g — index

110 — index

Question Number : 29 Question Id : 54947021981 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ethics in research 1s not related to

Options :
Scientific method
], %
Reliability
2. %
Self-interest
3.
Humanity
4. %

Question Number : 30 Question Id : 54947021982 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The objective of a research work can be written .

Options :
only in question form
1. %
only in statement form
2.¢
both question and standard form
3. %
in hypothetical form
4. %

Question Number : 31 Question Id : 54947021983 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Complete the series: 3C4. 7G5, 1216, 18R7, 25Y8,

Options :

32F9

3G9

Lad



32G9

Lad
Lad
o)
-1

Question Number : 32 Question Id : 54947021984 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a certain code language, if CHECK = 30 and TIME = 47 then what is the code for
HOCKEY?

Options :

52
1. %

67
2.9

48
3. %

12
4, ®

Question Number : 33 Question Id : 54947021985 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The ratio of the present ages of A and B is 5:6. Fifteen years ago. the ratio of their ages
was 7:9. Find the present age of A.

Options :

10
1. %

30
2. %

50

3.¢

65
4, #®

Question Number : 34 Question Id : 54947021986 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A shopkeeper losses 15% if an article is sold for Rs.102. What should be the selling
price of the article to gain 20%?
Options :

150

1. ®



144

2.9

138
3. %

132
4. %

Question Number : 35 Question Id : 54947021987 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a class, the average age of the students is 21 years. If their class teacher, aged 45
vears is also included, the average of the class would be 22 years. Find the number of
students in the class.

Options :
20
1. ®
23
2. ¢
24



-2
Lh

Question Number : 36 Question Id : 54947021988 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What sum of money amounts to 5800 in three years at 15% per annum with simple
interest?

Options :

3800
1. %

4000
2.9

4200
3. %

4600
4, %

Question Number : 37 Question Id : 54947021989 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Starting from his house, Krishna travels a distance of 8m towards North, he then turns
left and travels a distance of 6m, then travels 5m South and finally he travels 6m
towards the West to reach his office. What 1s the approximate distance between his
house and the office?

Options :
14m
1. %
12m
2. %
12.5m
3. ¢
14.5m
4, %

Question Number : 38 Question Id : 54947021990 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A person can cover a certain distance in 8 hours at a speed of 50 kmph. At what speed
he must travel to cover the distance in 5 hours?

Options :



400 kmph

1. %

80 kmph
2. ¥

100 kmph
3. %

300 kmph
4.%

Question Number : 39 Question Id : 54947021991 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following groups of fraction are in ascending order?

Options :
8 57
% 11 8§ 10
7 5 8
108711



3.¢

| oo
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Question Number : 40 Question Id : 54947021992 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements are mutually inconsistent?
Mostly poets are not egoistic

L
I1. Mostly poets are humble
I11. Some poets are egoistic
IV. Some poets are not non-egoistic
Options :
ILand IV
1. *
IT and 11T
2. %
I and IIT

3.¢



III and IV

Question Number : 41 Question Id : 54947021993 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Some teachers are not sincere” is an example for which category of proposition?

Options :

Particular affirmative

Particular negative

2.

Universal affirmative
3 %

Universal negative
4, %

Question Number : 42 Question Id : 54947021994 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Given below are two statements — one is labelled as Assertion (A) and the other is
labelled as Reason (R)

Assertion (A): Skill development is a key feature in every individual’s life.

Reason (R): An individual. who wants to get employed. needs to possess good
education only.

In this context of above two statements choose the correct option codes:

Options :

(A) 1s true, but (R) is false

1.
(A) 1s false. but (R) is true
2. %
Both (A) and (R) are true and (R) is the correct explanation of (A)
3. %
Both (A) and (R) are true and (R) is not the correct explanation of (A)
4, %
Is Section Default? : null

Question Id : 54947021995 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (43 to 45)



Note:
From the data furnished in the following table, answer the questions 43-45. Area under
different crops over the years 2016-20 is in lakh hectares.

Year Mango Vegetables Flowers Total crop area
2016 53 72 1 187
2017 56 75 1 194
2018 58 78 2 202
2019 61 79 2 207
2020 63 79 2 209

Sub questions

Question Number : 43 Question Id : 54947021996 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following two years have registered the highest rate increase in total crop
area?

Options :

2017 and 2018

2016 and 2017



2017 and 2019

2018 and 2019

Question Number : 44 Question Id : 54947021997 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following has recorded the highest rate of increase in crop area during
2016 to 20207

Options :

Mango

Vegetables

2. %

Flowers
3. %

None of these
4, %

Question Number : 45 Question Id : 54947021998 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In which year, area under mango has recorded the highest rate of growth?

Options :
2019
1. #
2017
2.9
2016
3. %
2018
4. ®
Is Section Default? : null

Question Id : 54947021999 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 49)



Note:

Study the following pie chart carefully and answer the questions 46-49. It gives data on
number of students having specializations in different study branches.

Marketing
22%n

Sub questions

Question Number : 46 Question Id : 54947022000 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the total number of students having specialization in HR. Marketing and IT?

Options :

4640



4080

2. %

4400
3.¢

4260
4, %

Question Number : 47 Question Id : 54947022001 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the total number of students having IB as specialization?

Options :

1520
1.v

1280
2. %

1120
3. %

1360



Question Number : 48 Question Id : 54947022002 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the ratio of the students having Finance as specialization to students having HR
as specialization?

Options :

11:9
1. %

4.7
2. %

18:13
3. %

6:7
4. &

Question Number : 49 Question Id : 54947022003 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Students having IR as specialization forms approximately what percent of students
having HR specialization?

Options :

114
1. ¢



106

2. ®
76
3. %
87
4, %
Is Section Default? : null

Question Number : 50 Question Id : 54947022004 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the statement “most of the students are obedient’ 1s taken to be true, which one of the
following pair of statements can be claimed to be true?

A) All obedient persons are students

B) All students are obedient

C) Some students are obedient

D) Some students are not disobedient
Choose the correct codes from the options given below:

Options :

Aand B



B and C

2. %

Cand D
3.¢

Band D
4, %

Question Number : 51 Question Id : 54947022005 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Given below are two statements I and II followed by two conclusions (A) and (B).
Suppose if the statements are true, which of the following conclusions can logically
follow?
Statements:

I: Some flowers are red

II: Some flowers are blue
Conclusions:

A: Some flowers are neither red nor blue

B: Some flowers are both red and blue

Options :

only (A) follows



only (B) follows

2. %

both (A) and (B) follows
3. %

Neither (A) nor (B) follows
4.

Question Number : 52 Question Id : 54947022006 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

At selling price of Rs 240, a person incurred a loss of 10%. To earn a profit of 10%,
what should be the selling price?

Options :
Rs 310
1. %
Rs 300
2. ®
Rs 285.50



Rs 293 .33
4.

Question Number : 53 Question Id : 54947022007 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Every woman is white and ‘not every woman is white’ comes under which domain
source of opposition

Options :

Contradictory
1.¢

Contrary
2. %

Sub-contrary
3. %

Sub alternation
4. %

Question Number : 54 Question Id : 54947022008 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mercury and leads are poisonous substances that contribute to




Options :

Noise exposure

1. %
Poor air quality
2. %
Water contamination
3. %
Skill pollution
4.

Question Number : 55 Question Id : 54947022009 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the binary equivalent of decimal number 48 is 110000, then the binary equivalent of
decimal number 51 is given by

Options :

110010

11011



110001

110100

Question Number : 56 Question Id : 54947022010 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following represents one billion characters?

Options :

Kilobyte
1. ®

Megabyte
2. %

Gigabyte
3.¢

Terabyte
4. %

Question Number : 57 Question Id : 54947022011 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Python is :

Options :
an operating system
1. ®
an application program
2. %
a compiler
3. %
a programming language
4.9

Question Number : 58 Question Id : 54947022012 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A description in conununication process is called

Options :

Interaction

Noise
2. %



Transgression

Feedback

Question Number : 59 Question Id : 54947022013 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is an example of asynchronous medium?

Options :
Radio
1. ®
Film
2.8
Newspaper
3.9
Television
4. %

Question Number : 60 Question Id : 54947022014 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following are priority areas in relation to the sustainable development
goals?

A) No poverty

B) Zero hunger

C) Reducing Urbanization

D) Peace, Justice and Strong institutions

Choose the correct answer from the options given below:

Options :

A, B,C
1. ®

AL D
2. ®

B, C.D
3. %

A, B. D
4.

Question Number : 61 Question Id : 54947022015 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the largest soil group in India?



Options :

Red soil
1. %
Black soil
2. %
Sandy soil
3.
Mountain soil
4, %

Question Number : 62 Question Id : 54947022016 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a waterborne disease?
Options :

Typhoid

Hepatitis



Cholera

Dengue
4.

Question Number : 63 Question Id : 54947022017 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Name the clinical trial in which blood is transferred from recovered COVID-19 patients
to Corona virus patients who is in critical condition.

Options :
Hydroxychloroquine
1 ®
Soidarity
2. %
Remdesivir
3. %
Plasma therapy
4.9

Question Number : 64 Question Id : 54947022018 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The first case of noval coronavirus was identified in

Options :

Beijing
1. *

Wuhan
2.¢

Tianjin
3. %

Shanghai
4.%

Question Number : 65 Question Id : 54947022019 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following sources of energy has maximum potential in India?
Options :

Solar energy
1. ¢



Wind energy

2. %

Tidal energy
3. %

Ocean thermal energy
4. %

Question Number : 66 Question Id : 54947022020 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is regarded as an immediate need of an educational
organization?

Options :

To ensure self-employment capabilities in the students
1.¢

To enrich the knowledge of future generation
2. %

To focus on Employment opportunities



To make provision of maximum service opportunities

Question Number : 67 Question Id : 54947022021 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The scheme “Unnat Bharat Abhiyan™ aims to

Options :
Increase number of colleges in India
1. %
Increase quality in Higher education
2. %
Link higher educational institutions in the country with at least five villages
3.
Increase strength of students in colleges in India
4.%

Question Number : 68 Question Id : 54947022022 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which one of the following are the goals of Higher education in India?
A) Access

B) Equity

C) Quality and Excellence

D) Relevance

E) Value based education

F) Compulsory and free education

Select the correct answer from the code given below:

Options :

A B EandF

ABC DandFE

2.9

ABCDEandF
3, %

A BandE
4, %

Question Number : 69 Question Id : 54947022023 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following 1s NOT a constitutional body?

Options :
NITI Aayog
1. v
Election comimission
2. %
Finance commission
3 %
Union Public Service Commission
4. %

Question Number : 70 Question Id : 54947022024 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is ABC as per NEP-2020?
Options :

Academic Bank of Credit
1. ¢



Academic Basic Certificate

2. %

Annual Basic Certificate
3. %

Annual Bank of Credit
4, #

International and Area Studies

Section Id : 549470310
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 70
Section Marks : 70
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 71 Question Id : 54947022025 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which school of thought in mternational relations argues that States operate for
their own self-interest in an anarchical environment by cooperating with others?

Options :

The English School



Constructivisim

Realism
3 %

[iberalism
4.«

Question Number : 72 Question Id : 54947022026 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What makes international relations (IR) different from comparative politics (CP)?

Options :
They are two different names for the same thing.
1. ®
IR looks at cooperation between countries and other mternational actors: CP
looks at conflict between them.
2.
IR looks at cooperation and conflict between countries and other international
actors: CP looks at multiple countries to get insights about what 1s happening
™ inside those countries

IR has global scope. whereas CP is better for regional analysis.



Question Number : 73 Question Id : 54947022027 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following phenomena would ordinarily be considered “transnational™?
Options :

Identities of groups like the Quebecois or the Catalans, some of whom hope

for independence from their states
1%

Identities of groups of immigrants who have attachments to both their

S v countries of origin and the sites to which they have migrated

The state mstitutions in cases where potential separatist movements might
arise, such as Canada or Spain

Fiscal policy of various Latin American states

Question Number : 74 Question Id : 54947022028 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is a name for a potential disadvantage facing countries that
send large numbers of migrants abroad?

Options :



Brain drain
1. v

Cash stash
2. %

Empty Nest Syndrome

, » No answer

Question Number : 75 Question Id : 54947022029 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following claims about concepts in social science 1s true?
Options :

It is usually obvious which concepts you should use if you think about it for a
minute.

If concepts are good, we can directly measure them without further work.
2. %

Concepts m comparative politics are just like concepts in physics, but just

3 % about different things



It 1s very important to be attentive to conceptualization when carrying out or

evaluating empirical work.
4. &

Question Number : 76 Question Id : 54947022030 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Marshall Plan 1s also known as
Options :

European Economic Plan

European Recovery Plan
2.

European Common Plan
3. %

European Technological Plan
4. %

Question Number : 77 Question Id : 54947022031 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Communist system of organizing the State and society was based on the ideas
of

Options :



Joseph Stalin

1. ®

Karl Marx
2. ¢

Antonio Gramsci
3 %

Mao Zedong

Question Number : 78 Question Id : 54947022032 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Truman doctrine was a policy to provide military and economic aid to

Options :

. Italy and Greece
1.

West Germany and France
2. %

Greece and Turkey
3.¢

Turkey and Germany

Question Number : 79 Question Id : 54947022033 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
COMECON was
Options :

A Soviet dominated economic organization
1. ¢

The Comumunist Information Bureau

The contamment program of America

The European economic organization

Question Number : 80 Question Id : 54947022034 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An organization of independent states linked by their common ties to the former
British Empire is called

Options :

Contamnment

Commonwealth

Dominion
3 %



Protectorates

Question Number : 81 Question Id : 54947022035 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The process whereby a colonial power grants judicial independence to a colony, but
nevertheless maintains a “de facto’ political and economic control is known as

Options :

neo-Marxism

Neo-Ccommunism

2. %

neo-colonialism
3.«
) neo-Fascism

Question Number : 82 Question Id : 54947022036 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Apartheid policy was introduced in South Afiica by

Options :



Nelson Mandela

Chief Albert Luthuli

C.F. W. de Klark

3. %

Daniel F. Malan

Question Number : 83 Question Id : 54947022037 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Panchasheel Policy was formulated by
Options :
Jawaharlal Nehru
1. ¢

Jayaprakash Narayan

Sardar Vallab Bhai Patel

Dr. Babu Rajendra Prasad

4. %



Question Number : 84 Question Id : 54947022038 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

From which country was the Indian Peacekeeping Force (IPKF) pulled out between
1987-90?

Options :

- Burma

Myanmar

- Sri Lanka

L% Pakistan

Question Number : 85 Question Id : 54947022039 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which year did South Asian Free Trade Area (SAFTA) agreement come into
effect?

Options :
2006



2001

Question Number : 86 Question Id : 54947022040 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Cold War began
Options :

, Immediately after the World War IT
1.9

, » Before the World War II

Immediately after the World War I
3. %

Before the World War I

Question Number : 87 Question Id : 54947022041 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

India conducted its first Nuclear Tests in the year

Options :
Lo 1974

L« 1978



L w1998

1996

Question Number : 88 Question Id : 54947022042 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Headquarters of SAARC is located in
Options :

Kathmandu
1. ¥

Colombo

New Delhi

3. %

Islamabad
4, %

Question Number : 89 Question Id : 54947022043 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Simla agreement was signed in the year

Options :



w1971

, o 1972
1974

1975

Question Number : 90 Question Id : 54947022044 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is not a principle of India’s Nuclear Doctrine

Options :
Energy requirements
1. %
Credible mmiumum deterrent
2.
Civilian Control
3 %

First use



Question Number : 91 Question Id : 54947022045 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

India’s geopolitical interests are largely connected with Iran’s port
Options :

Port Kelang

Port of Busan

Port of Shenzhen

Chabahar Port

Question Number : 92 Question Id : 54947022046 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is Hambantota?
Options :
| » AStrait

A River

A Port
3.9



An Island

Question Number : 93 Question Id : 54947022047 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the key in the Russia-Ukrain War
Options :
ASEAN Membership

1. %

. SAARC Membership
2.

NATO Membership
3.

EAS Membership
4. %

Question Number : 94 Question Id : 54947022048 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When did Soviet Union fall?
Options :

1982

1. %



1991
1976

1998

Question Number : 95 Question Id : 54947022049 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Levant crisis occured m
Options :
1941

1943

1945

1948
4. %

Question Number : 96 Question Id : 54947022050 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which country has come out of European Union?



Options :
Germany

France

United Kingdom
3.¢

[taly

Question Number : 97 Question Id : 54947022051 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which countries are called “Scandinavia™?

Options :

France, Spain, Sweden
1. %

Belars. Kazakhstan, Greece

Serbia. Ireland. Lithuania

Denmark, Norway, and Sweden
4. ¢



Question Number : 98 Question Id : 54947022052 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which North American country known as the 'Sugar Bowl of the World'?
Options :

Cuba
1. ¢

 Canada
2. %

USA

3. %

Mexico

Question Number : 99 Question Id : 54947022053 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following type of grassland is found in the North America?
Options :

| % Savannas

Prairies



Steppes

3. %

L Meadows

Question Number : 100 Question Id : 54947022054 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Panama Canal separates two continents
Options :
Asia and Europe

1. %

Europe and Africa
2. %

Asia and Australia
3 %

North America and South America
4, &

Question Number : 101 Question Id : 54947022055 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Equator passes through which country of Southeast Asia

Options :



Thailand

1. ®

Cambodia

Vietnam

Indonesia
4.«

Question Number : 102 Question Id : 54947022056 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Name the countries participating in trilateral Malabar exercise
Options :

China. India and Russia

The US. Myanmar and India

2. %

India, Japan and the US
3. ¢

India. Australia and the US



Question Number : 103 Question Id : 54947022057 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Name the Indian on whom Indonesia conferred its highest civilian award —
Bumiputra in July 19807

Options :

Biju Patnaik
1. ¢

Jawharlal Nehiu
2. %

, » Naveen Pataik

MC Gandhi

4, %

Question Number : 104 Question Id : 54947022058 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the context of South China Sea conflict. Freedom of Navigation Operations
(FONOPs) 1s carried out by country?

Options :

% China

The United States
2.9



Vietnam

The Philippines

Question Number : 105 Question Id : 54947022059 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which agreement was signed between India and Pakistan after Indo-Pakistan War
in 1965

Options :

Tashkent Agreement
1. ¥

Panchasheel Agreement
2. %

Bangkok Agreement
3. %

Simla Agreement
4. %

Question Number : 106 Question Id : 54947022060 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who was the last President of the USSR?

Options :



Putin

1. %

, » Stalin
Gorbachev

N Brezhnev

Question Number : 107 Question Id : 54947022061 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which country is Africa's highest mountain Mt. Kilimanjaro located?

Options :

Tanzania
1.9

Kenva

Ethiopia



Question Number : 108 Question Id : 54947022062 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What did Max Weber mean when he said that the modern state exerts a monopoly
on legitimate force?

Options :

Most people in modern societies disagree with the use of force if the state

does not authorize it
1. v

Only the state exerts violence in modern societies.

Modern states are non-violent, unlike their predecessors

Weber did not say anything like that: it was Karl Marx

Question Number : 109 Question Id : 54947022063 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s not a task assumed by many states?
Options :

Investing in human capital
1. %

) % Policing



Regulatmg mental life
3.¢

Developing and maintaining infrastructure

Question Number : 110 Question Id : 54947022064 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What do political scientists and others mean by “political economy™?

Options :

An economy that has been “politicized” such that nothing works.
1. %

The study of ways in which politics and the economy affect one another
2. ¢

An economy that makes people more political.
3. %

Trick question: political scientists don't talk about that.
4.%

Question Number : 111 Question Id : 54947022065 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which country is considered to have first experienced the Industrial Revolution?

Options :



The United States

The United Kingdom
2. ¢

India

France

Question Number : 112 Question Id : 54947022066 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The group of 77 mcludes the countries belonging to the
Options :
developed states

1. #

developing states
2.¢

underdeveloped states
3. %

different Indian tribes
4, %



Question Number : 113 Question Id : 54947022067 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following countries is not a member of the Group of 7 (G-7)?

Options :

- United States

Germany

Indonesia
3.¢

France

Question Number : 114 Question Id : 54947022068 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘What was the name of the first official military operation against Iraq in the 1990-
1991 Gulf War?

Options :

Operation Desert Storm
1.

Operation Iraqi Freedom
2. %



Operation Enduring Freedom

Operation Thunderstorm
4. %

Question Number : 115 Question Id : 54947022069 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

OPEC stands for
Options :

Organization of Petroleum Exporting Countries

1.v¥
Organization of Petroleum Exchange Centres
2. %
Organization of Ports and Exchange Centres
3. %
. Organization of Petroleum in Eastern Countries
4.

Question Number : 116 Question Id : 54947022070 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which terrorist organization was responsible for November 2008 Mumbai Terrorist
Attacks?



Options :

Hizbul Mujahideen

1. %

Lashkar-e-Taiba
2. ¢

Al-Nusra Front
3, %

Hayat Tahrir al-Sham

Question Number : 117 Question Id : 54947022071 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Who is the first National Security Advisor in India?
Options :
KPS Menon

V K Krishnamenon

Brajesh Mishra

Shiva Shankar Menon



Question Number : 118 Question Id : 54947022072 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bandung Conference was held in the year

Options :
1950

1. %

Question Number : 119 Question Id : 54947022073 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who was the first Indian who served as the President of UN General Assembly?

Options :
v Vijaya Lakshmi Pandit

- Ramesh Bandari



Natwar Sineh
3. % -

Shashi Tharoor

Question Number : 120 Question Id : 54947022074 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the country is not a permanent member of the UN Security Council

Options :
x USA

- China

India
3.%

France

Question Number : 121 Question Id : 54947022075 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The 123 Agreement between India and the US was finally operationalized in the
year

Options :



- 2008

2009

2. 8

2010

3. %

2012

Question Number : 122 Question Id : 54947022076 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which Prime Minister of India launched the Look East Policy
Options :
. Nehru
PV Narasimha Rao

2.¢

Indira Gandhi

Rajiv Gandhi



Question Number : 123 Question Id : 54947022077 Display Question Number
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the member countries of ‘Quad’
Options :

Indonesia. Australia, India. Japan

1. %

The US. Australia. Germany, Japan
2. %

The US. UK. India, Japan
3. %

The US. Australia. India, Japan
4.9

: Yes Is Question Mandatory : No Calculator : None

Question Number : 124 Question Id : 54947022078 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the southernmost point of India in Indian Ocean

Options :

Indira Point
1.9

Nehru Point



Sashtri Point

Guljar Point
4. %

Question Number : 125 Question Id : 54947022079 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Line of Control (LOC) is a military command line between two nations
Options :

India and Pakistan
1.9

India and China

India and Sri Lanka

India and Nepal

Question Number : 126 Question Id : 54947022080 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

India has pulled out from the following initiative/grouping

Options :



ASEAN

, BIMSTEC
RCEP
L Quad

Question Number : 127 Question Id : 54947022081 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

String of Pearls

Options :

India’s policy of Indian Ocean
1. ®

US’s policy of Indian Ocean
2. %

Japan’s policy of Indian Ocean
3. %

China’s policy of Indian Ocean
4.9



Question Number : 128 Question Id : 54947022082 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Vienot Accord 1s associated with
Options :

Svyria
1.¢

Egypt
2. %

Turkey

Palestine

Question Number : 129 Question Id : 54947022083 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The official language of Israel is

Options :
Arabic
1. %
Hebrew
Aramic



English

Question Number : 130 Question Id : 54947022084 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

South African cricket players are called Proteas. Protea is -
Options :

National Animal of South Africa

National Bird of South Africa

2. %
\,— National Flower of South Africa
3. ¢
National Language of South Africa
4.%

Question Number : 131 Question Id : 54947022085 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which country 1s called “Land of Thousand Lakes™?
Options :

Denmark



Poland

2.3

Monaco
3. %

Finland
4, W

Question Number : 132 Question Id : 54947022086 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which country was not part of the USSR
Options :
Kazakhstan

- Georgia

Hungary

Ukraine

4. %

Question Number : 133 Question Id : 54947022087 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bermuda triangle is located

Options :



Pacific Ocean

Indian Ocean
2. %

Atlantic Ocean

. Mediterranean Sea
4.

Question Number : 134 Question Id : 54947022088 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which state in India celebrates the “Bali Yatra® marking ancient voyage to
Indonesia?

Options :
Andhra Pradesh
1. %
Tamil Nadu
Bihar
3.
Odisha

4. ¢



Question Number : 135 Question Id : 54947022089 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which countries have the possibility of getting totally inundated on account of
rising sea level due to climate change?

Options :

Maldives and Tokelau
1.

New Zealand and Singapore
2. %

S11 Lanka and Maldives

Bangladesh and Vietnam

Question Number : 136 Question Id : 54947022090 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which strait is largely connecting both Indian and Pacific Oceans
Options :
Malacca Strait
1. ¢

Korea Strait



; » DBering Strait

Strait of Gibraltar

Question Number : 137 Question Id : 54947022091 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Doklam crisis resulted i confrontation between whom?

Options :

India-China
1. v

India-Bangladesh
2. %

India-Nepal

3. %

India-Bhutan

Question Number : 138 Question Id : 54947022092 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

To which country does the Rohingya (an ethnic group) belong?

Options :



Nepal

1. ®
Bangladesh
2. %
Myanmar
3. ¢
, » Bhutan

Question Number : 139 Question Id : 54947022093 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

China. Pakistan Economic Corridor connects by road4

Options :

Adan’s Port and China

Strait of Malacca and China
2. %

Gwadar Port and China

Singapore Port and China



Question Number : 140 Question Id : 54947022094 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Dalai Lama originally belongs to

Options :
China

, » Bhutan
Nepal

3. % pe

Tibet



